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2 3.86 45
3 3.82 Al
4. 376 72
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AGE B TTSV TM  TITS TIA T8 TTC TBP TEW TEM TTP
(AGE) 1o

1000
EP)
5 % 1000
& ()
Bl 06 240% 1000
(TTm)
046 040 25 24 1000
(TTT9)
B I 35% 406 23 1000
(TTA)
000030 0% I 0% 20 10
(TTFB)
069 108 0% s 15T 633 P 40
(TTI0)
050 079 18T 189 272 403 BB 615 10
(TTEMP)
19024 10BT 183 I65M g™ B BB 75" 10
(TTEMO)
on 033 5% 108 2%6M 06 R 6I8T 93" 92" 10
(TTEM)
039 053 S6Me 273 Sge e a7 4100 30 33 3% 10
CTTP

0L, *p<05
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410)
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Ol (r = .385)

.01 ( = .156, .237, .202 247

01 (r = .392)

0l ( = .394

.338

.01



6
1 (b) (Beta)
b
Enter
b SEDb Beta t P-Value
8.339E-03 .009 115 .880 .380
-1.258E-02 .009 -.179 -1.367 173
1.891E-02 .053 .019 .355 723
6.372E-02 .032 .104 1.983 .048
.324 .061 .287 5.345 .000
-1.468E-02 .049 -.017 -.299 .765
-1.549E-02 .037 -.027 -.415 .679
A77 .060 .236 2.938 .004
8.330E-02 .051 122 1.620 .106
R = .517 R2 = 246 F=12.325 Constant = 2.857
1 Enter
9
24.6 (R2 = .246)
(Beta)

.05 1



12 ® 1
' (R2
(R2change)
Stepwise
R R2 R2change
.394 153 155
489 234 . 084
.503 .245 .014
12
1
153 (R2 = .153)
2
234 (R2= .234)
.001

23.4

3 4

.245 (R2= .245)

F Sg Fchange
57.412 .000
34.164 .000

5.688 .018
.001
15.3

8.4 (R2change = .084)
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1.4 (échange = .014)

.05

24.5 (R2= .245)
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(Beta)

222

315

7.418E-02

R = .503 R2 = .253

13
Beta

(Beta = .279)

13

n Tun

M farawv

+ 12177

()

Stepwise
SED Beta t P-Value
.039 .295 5.733 .000
.059 .279 5.391 .000
.031 21 2.385 .018
F = 5.688 Constant = 4.498
(Beta)
(Beta = .295)
(Beta = .121)
= 4.498 + 222
+ .315**
+ 7.418E-02*
— -295 Z mMifijB -279  Z (I
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